
दै�नक �नयत काय�-28
�दनाकं:-21/5/2020
क�ा:-7
�वषय:-�ह�द�
ग�ाशं को पढ़कर नीचे �दए गए ��� के सही उ�र चुन:े-
तरैाक� आनदंदायक कला होने के साथ-साथ हमारी आव�यकता भी है। �ाचीन काल म� नावे कहां थी? तब तो आदमी को तरैकर ही
न�दय� को पार करना पड़ता था।जल म� मछली आ�द जल जीवो को �व�छंद �वचरण करते देख मन�ुय ने उसी �कार तरैना सीखने का

�य�न �कया और धीरे-धीरे उसने इस काय� म� इतनी �नपणुता �ा�त कर ली �क आज तरैाक� एक कला के �प म� �गनी जाने लगी है
�व� म� जो भी खेल ��तयो�गताएं आयो�जत क� जाती ह�, उसम� तरैाक� ��तयो�गता अ�नवाय� �प से स��म�लत क� जाती ह�।
(1) तरैाक� आनदं के अलावा �या है?
(क) हमारी आव�यकता
(ख) हमारी �ान व�ृ�
(ग) हमारी आजी�वका वह
(घ) अ�य
(2) �ाचीन काल म� लोक न�दय� को कैसे पार करते थे?
(क) नाव� से
(ख) तरैकर
(ग) जहाज� से
(घ) भागकर
(3) मन�ुय ने �कस से �रेणा लकेर करने का �यास �कया?
(क) मछली से
(ख) हंस से
(ग) घ�घा से
(घ) ब�ख से

(4) '�व�' श�द का कौन सा श�द पया�यवाची है?
(क)सागर
(ख)तट
(ग) र�व
(घ) ससंार
(5)' �नपणुता' श�द का अथ� है:-
(क) कुशलता
(ख)�श�ा
(ग) तरैाक�
(घ) यो�यता
------------------------------------------------------------------



DAILY BASIS ASSIGNMENT 28

Date:21.05.2020 Class: VII Day: THURSDAY

Subject : English

The following words tell us something about the characters of ‘Dreams of Future’ . Cross the word
which has been wrongly used.

1. Meg
a) responsible
b) practical
c) creative
d) content

2. Jo
a) homely
b) thoughtful
c) popular
d) fun loving

3. Beth
a) simple
b) homely
c) caring
d) ambitious

4. Amy
a) creative
b) simple
c) artistic
d) ambitious

5. Laurie
a) practical
b) adventurous
c) creative
d) popular

SUBJECT – PHYSICS

MULTIPLE CHOICE QUESTION (SELECT THE RIGHT OPTION)

1. A fixed point with respect to which a body changes its position is called

a) turning point. b) reference point
c) movable point d) rotatory point



2. A bird flying in the air exhibits________ motion.

a )rectilinear b) circular c) random d) periodic

3. A child on a swing exhibit_____ motion.

a )rectilinear. b) circular. c) random. d) periodic

4. Motion of wheel of a bicycle is ____ motion.

a )rectilinear. b) circular. c) random. d) periodic

5. Motion of the needle of a sieving machine is________ motion.

a )rectilinear. b) circular. c) random. d) periodic

SUBJECT : CHEMISTRY

MULTIPLE CHOICE QUESTION (SELECT THE RIGHT OPTION)
1. What happens if a drop of baking soda solution is put on the strip of a turmeric

paper?
a. Turmeric paper turns red.
b. Turmeric paper does not change its colour.
c. Turmeric paper turns green.
d. Turmeric paper turns blue.

2. What happens if a drop of lemon juice is put in china rose solution?
a. It turns to blue.
b. It turns to red.
c. It turns to magenta.
d. No change in colour.

3. If a drop of the given solution turns blue litmus paper to red, then given solution
will be ____ in nature.

a. Acidic
b. Basic
c. Neutral
d. All of these

4. Phenolphthalein indicator gives ___ colour in basic solution.
a. Pink
b. Green
c. Yellow
d. Blue

5. ____turns red litmus blue.
a. Base
b. Acid
c. Neutral substance
d. All of these



SUBJECT-- BIOLOGY

Multiple Choice Questions

1. Which of the following raw material is not necessary for photosynthesis?

a) Carbon dioxide

b) Water

c) Sun light

d) Nitrogen

2. Oxygen liberated during photosynthesis comes from-----------
a) Water
b) Carbon Dioxide
c) Glucose
d) Chlorophyll

3. Which of the following organism is used for production of alcohol?
a) Rhizobium
b) Yeast
c) Mushroom
d) Dead animals cell

4. Which of the following describe the characteristic of living being?
a) Excretion
b) Nutrition
c) Respiration
d) All of the above.

5. The pitcher plant digests the protein present in its prey by secreting
a) Poisonous substance
b) Digestive enzyme
c) Alcohol



d) Sticky gum

SUBJECT-SST

Q. Multiple choice questions

1. One of the healthiest countries in South America

a . Costa Rica

b . Brazil

c . Peru

d . Argentina

2 . Where is Jawaharlal Nehru cancer hospital and research centre?

a . Delhi

b . Meerut

c . Bhopal

d . Madhya Pradesh

3 . What does VBDs stand for?

a . Vector borne diseases

b . National vector borne diseases

c . Very basic diseases

d . International vector borne disease

4 . Public health care facilities are provided by the

a .Prime minister

b .Chief minister

c . Governor

d . Government

5 . The primary duty of the Government is to

a .develop the nation

b . ensure the welfare of the people

c . Provide health care facilities

d .build schools

SUBJECT – COMPUTER*

REVISION OF CH—1&2



.

Q. Multiple choice questions (Select the correct one):-

16……........ allows you to preview all your open windows from a control

window
a.Aero peek b. Aero snap c. Aero flip d. None of these
17. ……………. allows you to make your mouse shake only the open window in

focus and rest of the

windows will disappear .
a. Aero shake b. Aero flip c. Aero snap d. none of these
18. …………… is an operating system
a. Windows 7 b. home group c. Aero d. None of these
19. MICR is an input device when is primarily used by …………. industry
a. Garment Industry b. Banking industry c. In school d. None of these
20. An output device is used to …………. The result of the data processing

carried output by the CPU of

your computer system

a. Communicate b. Print c. Processing d. None of these



DBA-    std-7  Sub- maths  date- 21.5.2020 

1) If both numerator and denominator of the fraction 2/3 are divided by 2, then the fraction 

a) Becomes greater b) becomes lesser c) becomes 1 d) remains same 

2) If  the  numerator of 7/8 is increased by 1, the fraction becomes 

a) Lesser  b) greater c) a whole d) 8/9 

3) Which of the following is a vulgar fraction? 

a) 3/10 b) 10/3 c) 13/10 d) 23/100 

4) Which of the following is a decimal fraction? 

a) 2/5 b) 10/13 c) 100/120 c) 5/10 

5) The reciprocal of 3
2

3
   𝑖𝑠 

a) 3
3

2
  b) 11/3  c)  2

3

3
   d) 3/11 

 



          प्रतिदिन तनयिकायय – 4  

कक्षा – साि                   दिन – गुरुवार 

विषय – संस्कृि                दिनांक – 21/05/2020    

तनम्नलिखिि विकल्पों से सही उत्तर चुनकर लििें ।  

(1) ‘िेिै:’ में कौन सा िचन है ?  

(क) एकिचन (ि) द्वििचन (ग) बहुिचन (घ) क एिं ि    

(2) ‘िेिेषु’ में कौन सा विभक्ति है ?  

(क) चिुर्थी (ि) पञ्चमी (ग) षष्ठी (घ) सप्िमी   

(3) ‘रमासु’ कौन सा िचन में है ?  

(क) एकिचन (ि) द्वििचन (ग) बहुिचन (घ) क एिं ग  

(4) ‘लमत्राखि’ में कौन सा विभक्ति है ?  

(क) प्रर्थमा/ द्वििीय (ि) ििृीय (ग) चिुर्थी (घ) पञ्चमी  

(5) ‘लमत्रे’ में कौन सा विभक्ति है ?  

(क) प्रर्थमा (ि) द्वििीया (ग) सप्िमी (घ) क,ि एिं ग  


